

14.06.2021

Mathematics Home

B.Sc. Part II

Particular Paper - IV

Topic: Integral (Diff. eqn)

① Solve $x - y + p = 1$.

Soln:-

The given equation can be written as

$$\frac{\partial^2 z}{\partial x^2} - \frac{\partial^2 z}{\partial x \partial y} + \frac{\partial z}{\partial x} = 1.$$

$$\text{i.e. } (D^2 - DD' + D)z = 1.$$

$$\text{i.e. } D(D - D' + 1)z = 1.$$

$$\text{C.F.} = e^{0 \cdot x} f_1(y) + e^{-x} f_2(y+x)$$

$$= f_1(y) + e^{-x} f_2(y+x)$$

$$\text{Now, P.I.} = \frac{1}{D(D - D' + 1)} \quad (1)$$

$$= \frac{1}{D} (1 + D - D')^{-1} (1)$$

$$= \frac{1}{D} (1 - D + D' + \dots) (1)$$

$$= \frac{1}{D} (1) = x.$$

∴ The solution is

$$z = f_1(y) + e^{-x} f_2(y+x) + x.$$

Date _____
Page _____

② Solve! $(D^3 - 3DD' + D + 1)z = e^{2x+3y}$.

Solⁿ! Here we see that

$D^3 - 3DD' + D + 1$ cannot be resolved in to factors linear in D and D' .

∴ C.I.F = $\sum A e^{hx+ky}$ where

$$h^3 - 3hk + h + 1 = 0$$

$$\text{Also P.I} = \frac{1}{D^3 - 3DD' + D + 1} e^{2x+3y}$$

$$= \frac{e^{2x+3y}}{2^3 - 3 \cdot 2 \cdot 3 + 2 + 1} = \frac{e^{2x+3y}}{-7}$$

∴ The required solution is

$$z = -\frac{1}{7} e^{2x+3y} + \sum A e^{hx+ky}$$

Where $h^3 - 3hk + h + 1 = 0$.

③ Solve! $S + p - q = z + xy$

Solⁿ!

The given equation can be written as

$$\frac{\partial^2 z}{\partial x \partial y} + \frac{\partial z}{\partial x} - \frac{\partial z}{\partial y} - z = xy$$

$$\text{i.e., } (DD' + D - D' - 1)z = xy$$

$$\Rightarrow (D-1)(D'+1)z = xy$$

Date _____
Page _____

$$\therefore C.F = e^{ax} f_1(x) + e^{-x} f_2(x)$$

$$\text{Now, P.I} = \frac{1}{(D-D')(D'+1)} xy$$

$$= \frac{1}{-(1-D)(1+D')} xy$$

$$= -(1-D)^{-1} (1+D')^{-1} xy$$

$$= - \left[(1+D+D^2+\dots) (1-D'+D'^2-\dots) \right] xy$$

$$= - [1+D-D'-DD'-\dots] xy$$

$$= - [xy + y - x - 1]$$

Hence the solution is

$$Z = e^{ax} f_1(x) + e^{-x} f_2(x) - xy - y + x + 1$$

4. Solve! $(D^2 - DD' - 2D)Z$

$$= \sin(3x+4y)$$

Solⁿ - Here, $D^2 - DD' - 2D$ cannot be resolved in to factors linear in D and D' .

\therefore C.F = $\sum A e^{hx+ky}$ where

$$h^2 - hk - 2h = 0 \Rightarrow h - k - 2 = 0$$

Date _____
Page _____

Now, P.I = $\frac{1}{D^2 - DD' - 2D} \sin(3x+4y)$

$$= \frac{1}{-3^2 - (-3 \cdot 4) - 2D} \sin(3x+4y)$$

$$= \frac{1}{-9 + 12 - 2D} \sin(3x+4y)$$

$$= \frac{1}{3 - 2D} \sin(3x+4y)$$

$$= \frac{3 + 2D}{9 - 4D^2} \sin(3x+4y)$$

$$= \frac{3 + 2D}{9 - 4(-9)} \sin(3x+4y)$$

$$= \frac{1}{45} (3 + 2D) \sin(3x+4y)$$

$$= \frac{1}{45} [3 \sin(3x+4y) + 2 \cdot 3 \cos(3x+4y)]$$

$$= \frac{1}{15} [\sin(3x+4y) + 2 \cos(3x+4y)]$$

Here the required solution is

$$Z = \frac{1}{15} [\sin(3x+4y) + 2 \cos(3x+4y)] + \sum A e^{hx+ky}$$

Where $h-k=2$.

Date _____
Page 2

(5) Solve $(D-3D'-2)z$

$$= 2e^{2x} \tan(\gamma+3x)$$

Solⁿ: Here C.F. = $e^{2x} f_1(\gamma+3x) +$

$$xe^{2x} f_2(\gamma+3x)$$

Now, P.I. = $\frac{1}{(D-3D'-2)^2} \cdot 2e^{2x} \tan(\gamma+3x)$

$$= \frac{1}{(D-3D'-2)^2} \cdot 2e^{2x+0\gamma} \tan(\gamma+3x)$$

$$= 2e^{2x+0\gamma} \frac{1}{[(D+2)-3(D'+0)-2]^2} \tan(\gamma+3x)$$

$$= 2e^{2x} \frac{1}{(D-3D')^2} \tan(\gamma+3x)$$

$$= 2e^{2x} \frac{x^2}{(2, 2)!} \tan(\gamma+3x)$$

~~where~~ Here $F(a, b) = 0$

$$= x^2 e^{2x} \tan(\gamma+3x)$$

Hence the solution is $z = C.F. + P.I.$

$$\text{i.e., } z = e^{2x} f_1(\gamma+3x) + xe^{2x} f_2(\gamma+3x)$$

$$+ x^2 e^{2x} \tan(\gamma+3x)$$

Dr. Birendra
Aest. Prof.
Dept. of Math.
D.K. College,
Dumraon